D‘I -—G——

' >
2 TFI..
- bed LT e SERYSY
Uy LT MAFSAL

DIN 648

| ISO 6126
C45 Gelik
pavar-l al

COMPONENTS

TFI1 6 FK 616 8 30 21 13 1 105 11 5 4.3 | 40.5110.5(11] M6X1 8.1 3.4 13 0.02
TF1 8 FK 818 10.2| 36 24 15 12 13 5 6 48 | 12 |15| M 8X1.25] 129 | 55 15 0.04
TFI10 FK 10) 91 13.2 | 43 29 18 15 15 6.5 7 57.5| 14 [20| M10X1.5| 17.6 | 8.1 12 0.06
TF112 FK 12110 15 50 34 20 17 18 6.5 8 67 |17.5]24|M12X1.75] 245 | 10.8 11 0.09
TFI 15 FK 15112] 184 | 61 40 24 20 21 8 10 81 20 |30] M14X2 36 17 8 0.18
TF117 FK 17114] 20.7 | 67 46 28 23 24 10 11 90 | 23 [34] M16X2 45 | 21.2 10 0.22
TFI1 20 FK 2016|241 | 77 53 35 | 275 32 10 13 1103.5[(27.5]140] M20X1.5 | 60 30 9 0.35
TF1 25 FK 25|20| 28.3 | 94 64 42 | 335 | 36 12 17 32 |48 M24X2 83 48 7 0.64
TFI1 30 FK 30]22| 34.2 ] 110 | 73 50 40 41 15 19 |146.5( 37 |56] M30X2 | 110 62 6 0.93
TFI 35 FK- 2RS 35]|25( 39.7 | 125 | 82 58 47 50 15 21 166 | 42 [60] M36X3 | 146 80 6 1.30
TFI 40 FK- 2RS 40)128] 45 | 142 | 92 65 52 55 18 23 | 188 | 48 |67] M39X3 | 180 | 100 7 2.01
TFI 45 FK- 2RS 45)132] 50.7 | 145 | 102 | 70 58 60 20 27 | 196 | 52 |65] M42X3 | 240 | 127 7 2.50
TFI 50 FK- 2RS 50|35 56 | 160 | 112 | 75 62 65 20 30 | 216 | 59 |69] M45X3 | 290 | 156 6 3.50
TFI1 60 FK- 2RS 60|44 66.8 | 175 | 135 | 88 70 75 20 38 | 242 | 75 | 73] M52X3 | 450 | 245 6 5.50
TF1 70 FK- 2RS 70{49] 77.8 [ 200 | 160 | 98 85 80 20 42 | 280 | 87 |80] M56X4 | 610 | 315 6 8.60
TFI1 80 FK- 2RS 80|55 89.4 | 230 | 180 | 110 | 95 | 100 | 25 47 | 320 [ 100]85] M64X4 | 750 | 400 6 12.00
TFI 40 FK- 2RS MAG. 40)128] 45 | 142 | 92 65 52 55 18 23 | 188 | 48 |67] M42X3 | 180 | 100 7 1.96
TFI 45 FK- 2RS MAG. 45)132| 50.7 | 145 | 102 | 70 58 60 20 27 | 196 | 52 |65] M45X3 | 240 | 127 7 2.44
TF1 50 FK- 2RS MAG. 50|35 56 | 160 | 112 | 75 62 65 20 30 | 216 | 59 |69] M52X3 | 290 | 156 6 3.40
TFI1 60 FK- 2RS MAG. 60|44 66.8 | 175 | 135 | 88 70 75 20 38 | 242 | 75 | 73] M60X4 | 450 | 245 6 6.10
TF1 70 FK- 2RS MAG. 70[{49] 77.8 | 200 | 160 | 98 85 80 20 42 | 280 | 87 |80] M72X4 | 610 | 315 6 8.70
TF1 80 FK- 2RS MAG 80|55 89.4 ]| 230 | 180 | 110 | 95 | 100 | 25 47 | 320 [ 100]85] M80X4 | 750 | 400 6 13.90




D 5

TFE..

SERYSY
MAFSAL

DIN 648

| ISO 6126

C45 Celik
p avanri

COMPONEN

TFE 6 FK . M 6X1 . . 13

TFE 8 FK 818 10.2] 36 24 15 12 13 | 5 6 48 | 12 |15 M 8X1.25| 12.9 5.5 15 0.04
TFE 10 FK 101 9| 13.2] 43 29 18 15 15 |6.5] 7 5751 14 [20] M10X1.5 | 17.6 8.1 12 0.06
TFE 12 FK 12]10 15] 50 34 20 17 18 |6.5] 8 67 [17.5]24|M12X1.75] 24.5 10.8 1 0.09
TFE 15 FK 15112 18.4| 61 40 24 20 21 8| 10 81 20 | 30f M14X2 36 17 8 0.18
TFE 17 FK 17114 20.7| 67 46 28 23 24 [10] 11 90 | 23 [34] M16X2 45 21.2 10 0.22
TFE 20 FK 20|16 24.1| 77 53 35 | 275] 32 | 10| 13 [103.5]27.5]40] M20X1.5 60 30 9 0.35
TFE 25 FK 25(20] 28.3[ 94 64 42 | 335 36 |12 17 | 126 | 32 [48] M24X2 83 48 7 0.64
TFE 30 FK 30122 34.2] 110 | 73 50 40 41 | 15] 19 |146.5| 37 |56 M30X2 110 62 6 0.93
TFE 35 FK- 2RS 35(25| 39.7| 125 | 82 58 47 50 [15] 21 166 | 42 [60 M36X3 146 80 6 1.30
TFE 40 FK- 2RS 40) 28 45| 142 | 92 65 52 55 | 18] 23 | 188 | 48 |67 M39X3 180 100 7 2.01

TFE 45 FK- 2RS 45|32 50.7f 145 | 102 | 70 58 60 [20] 27 | 196 | 52 | 65| M42X3 240 127 7 2.50
TFE 50 FK- 2RS 50|35 56| 160 | 112 | 75 62 65 120] 30 | 216 | 59 |69] M45X3 290 156 6 3.50
TFE 60 FK- 2RS 60(44| 66.8] 175 | 135 | 88 70 75 [20) 38 | 242 | 75 | 73| M52X3 450 245 6 5.50
TFE 70 FK- 2RS 70149 77.8] 200 | 160 | 98 85 80 20| 42 | 280 | 87 |80] M56X4 610 315 6 8.60
TFE 80 FK- 2RS 80[55| 89.4 230 | 180 | 110 | 95 | 100 | 25| 47 | 320 | 100|85] M64X4 750 400 6 12.00
TFE 40 FK- 2RS MAG. 40)28 45| 142 | 92 65 52 55 | 18] 23 | 188 | 48 |67 M42X3 180 100 7 1.96
TFE 45 FK- 2RS MAG. 45|32 50.7f 145 | 102 | 70 58 60 [20] 27 | 196 | 52 | 65| M45X3 240 127 7 2.44
TFE 50 FK- 2RS MAG. 50|35 56] 160 | 112 | 75 62 65 120] 30 | 216 | 59 |69] M52X3 290 156 6 3.40
TFE 60 FK- 2RS MAG. 60(44| 66.8] 175 | 135 | 88 70 75 [20) 38 | 242 | 75 | 73| M60X4 450 245 6 6.10
TFE 70 FK- 2RS MAG. 70149 77.8] 200 | 160 | 98 85 80 20| 42 | 280 | 87 |80] M72X4 610 315 6 8.70
TFE 80 FK- 2RS MAG 80[55| 89.4 230 | 180 | 110 | 95 | 100 | 25| 47 | 320 | 100|85] M80X4 750 400 6 13.90




	Page 1
	Page 2
	Page 3



